
 153"  133" 

OVERALL LENGTH:
TLS430FDCRx1: 316 1/4''
TLS430FDCXx1: 364 1/4''
TLS430FDCEx1: 400 1/4"

BETWEEN COLUMNS:
TLS430FDCRx1: 233 3/4''
TLS430FDCXx1: 281 3/4''
TLS430FDCEx1: 317 3/4"

 61 1/2" 

DECK LENGTH:
TLS430FDCRx1: 249'
TLS430FDCXx1: 297''
TLS430FDCEx1: 333"

42''~48"
ADJUSTABLE

 24" 

 92''~96" 

 92 1/4" 

 9.5° 

 10 1/4" 

RAISE: 70'' 30,000 LBS HEAVY DUTY FOUR POST MODELS:

TLS430FDCRx1:REGUILAR DECK      [20 FT]
TLS430FDCXx1:EXTENDED DECK     [24 FT]
TLS430FDCEx1:EXTRA LONG DECK  [27 FT] 

ITEM NO. PART NUMBER DESCRIPTION Default/
QTY.

1 44300005 CROSSBEAM ASSEMBLY FRONT 
SIDE 1

2 44300020 DRIVER SIDE DECK ASSEMBLY 1
3 44300004 CROSSBEAM ASSEMBLY REAR 

SIDE 1

4 24300036 27' DECK WELD. NON-CYLINDER 
SIDE 1

5 44300001 TOWER ASSEMBLY 1
6 44300001 TOWER ASSEMBLY 3
7 44180012 WHEELSTOP ASSY 2
8 34300200 POWER UNIT 1
9 44180011 PNEUMATIC CONTROLS 1

10 44300009 RAMP ASSEMBLY 2
11 3H000001 3/8'' JIC X #6 SAE/ORB 1
12 3H000002 EBLOW 1/4'' NPT X 3/8'' NPT 1
13 3H000003 PRESSURE CONPENSATED FLOW 

CONTROL, 3/8'' NPT PORT 1
14 3H000004 3/8'' NPT X 3/8'' JIC ADAPTER 1
15 34300002 HYDRAULIC HOSE 3/8'' JIC PORT 1
16 34300100 CABLE 1
17 34300101 CABLE 1
18 34300102 1
19 34300103 CABLE 1
20 3C000144 5/16''X1.75'' BOLT 4

21 3C000023 5/16’’ FLAT WASHER 4

22 3C000000 5/16’’ SPRING LOCK WASHER 8

23 HNUT 0.3125-18-D-N 4

24 3C000051 HBOLT 0.25-20x1x1-N-GR5 2

25 3C000044 1/4 SPRING LOCK WASHER 4

26 HNUT 0.2500-20-D-N 2

D

C

B

A

B

C

D

1345678

8 7 6 5 4 3 2 1

E

F

E

F

A

SIZEMATERIAL

UNLESS OTHERWISE SPECIFIED:

REV.

TITLE:

GEOMETRIC TOLERANCING PER: 
ASME Y.14.5M-1994

DIMENSIONS ARE IN [MM] INCHES

TOLERANCES:
FRACTIONAL: [1.5] 1/16"
ANGLE: MACH 1/2    BEND 1
X.X"      (1 DECIMAL): [3] 0.1"
X.XX"    (2 DECIMAL): [1] 0.03"
X.XXX"  (3 DECIMAL): [0.5] 0.010" 

PROJECT: 30K 4 POST LIFT

44300000

CFINISH

PART#

ALT. PART#  
          

DO NOT SCALE DRAWING

TOTAL AUTOMOTIVE LIFTING
SOLUTIONS INC.

(905)847-1198   FAX (905)891-1214
www.TLSLifts.com

SCALE: 1:36 SHEET 1 OF 8WEIGHT:  lbs

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF TOTAL 
AUTOMOTIVE LIFTING SOLUTIONS INC. (TLS).  

ANY REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT THE WRITTEN PERMISSION 

OF TLS IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

APPROVED

S.Z.DRAWN

DATENAME

CHECKED

2

TLS430FDCRx1,TLS430FDCXx1,TLS430FDCEx1

06/02/2013


	TLS SPEC
	Drawing View13
	Drawing View15
	Drawing View16


